Name: Solvtions

Worksheet 11.6 — The Ratio and Root Tests

Formally show whether the following series are Absolutely Convergent (AC), Conditionally Convergent (CC), or
Divergent (D). (LT: 4b)
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Name Solvtions

Worksheet 11.7a Strategy for Testing Series (LT: 4b)

Limits And Convergence Practice Problems

Legend:

C Convergent

AC Absolutely Convergent
CC Conditionally Convergent
D Divergent

Fill out the following chart. For all limits, specify «, - <, or DNE (does not exist) where
appropriate. (LT: 4b)

a, |lma,| ta) | lm[(-1'a] [{-)'a)| 2a S (-1)"a,

orD

D CC

1o ¢ 0O | C

ol c pvEl O] D b
10 ¢ 0 C | AC | AC
s ol ¢l 0 | C AL AC
“ 10 c| 0 | “ AL AC
“wle D DvVE D] O | D
m20 e | 0 | C A AC
ar 0 C 0 “ AL | AC




Name: Solvtions

Worksheet 11.8 — Power Series

Find the radius and interval of convergence. (LT: 4c)

> X - X 3w < ) .
’ Z )Z(n On n eck end orats -
n=1 3 ln“ n-‘_ 34 Cl’l P X ) 3
Qaen ) 12X o -
\a':"\:@ﬂ)z}ﬂ —l*lﬂ "a__‘_)“ 2 j-;.
z A a¥) N
/0737 |xl o .
+) atl —-""x A
- ? . Interval t_j‘ 3]
/L
] (79 (QM\ -
lim \C.L_‘“l]‘ 2x)
Mo | a, Por _:\;_\x\ <\
(_‘onvcrau-} ) <3
e X
B " a3’ [x) &3
Quny [ % _ Ceox <3 |
Fa:]z@'rﬂ}"\ 1 x1” ﬁhcf—K end )ofm"'s
TS (_>5_\___‘.) -3 -3
= f\-\'\ 31\*‘ \x\ﬂ 2 :-:_ ln Z _;’-
= N Al 5
per ( 3) [x] c
fim Aa+1\ - l)(\ Interval: E-3' 3)
NIe -C_!._q.\ 3 \ . 3
y oo Xl
Canuv&o‘ {:o - \
3) i;_: Con vse ae,ome,‘l‘fk SQ.N\Q.‘; "'85—1
Convvgm‘)' Tor [r]= |‘§|<l
ANU\&M.}— o-Hw\w]j:’ < Interval: (‘3‘3)
1% < -
(x] <3

(-3.3)

No need +o check GAo(,oaj/l'hS



o)

4 ; n! nl \
aa-l-l 1)(‘*’3‘ ___-—.:)
y-v R T IR
B
= oo Ix P

6:'-).‘, ’Xf?;ln

| .
5 - ;;_T l)(f'5\ H Interval: (- oo, 0:3)
Qnt) - X R=" 00
ﬂ‘)w\ Aa‘n\" 0 \ 'Pof 4

a,- T (—I)"(><-7)'1

1 n n ntl
a.ﬁ-\ l)‘ 7l "._Q—.d C_IACC'K Eﬂo‘PaHﬂ’S
Oa | A4 W"ﬂ x -7 =/
+\ S(J:-l R}
N Ix-TH] X = X )" L
T et SISON N
Al {x-T) QL 2 N
= i |);"7\ Z- ’
i D c
fim \Ouurl _7‘
D
Mye \TOn| T l Interval: ( G, ?1

w71¢I

Cowvﬁ.ul"' JFDF [

R=|

vse Root Test
On: nn (Xﬂz)h

\ToaT = nlx2

i T 0 ) exeept P
me N

6) i n"(x-2)"

Interval:

"= 0

% =2




